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A STUDY OXN THE MATHEMETICAL MODEL OF POTATO
CULTURAL PRACTICES FOR HIGH TUBER YIELD

Zhang Yongcheng, Xie Lianmei, Lu Mancang and Xin Yanpin

(Crop Rescarch Inmstitute, Qinghai Academy of Agricultural Sciences)

ABSTRACT

The effect of five factors, density(x,), inter-row distance(x,), N(x3), P(x,)

and K(x;) fertilizers,
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principles and methods. The results obtained were summaried as follows,

1. The scquence of the effect of the five factors on tuber yield was as follows,
N fertilizer (x4) > density (x;) > K fertilizer (x5) > inter-row distance (x,) > P
fegtiljzer(xy)e

2. The multiple correlation coefficients of tuber yield and investment benefit
with the five factors were 0.822 and 0.895 respectively, The correlation coefficient
of tuber yield with investment benefit was 0.4016, suggesting that the benefit
investment increased with the tuber yield;

3. 2500~3000 kg/mu can be obtained at 29.47 % of the highest probability, The
combination of five factors was density(x;)=3000 plants/mu, inter-row distance
(x,)=70cm, N fertilizer(x;) = 10kg/mu, P fertilizer(x,) = 15kg/mu and K fertilizer
(x5) =T.5kg/mu;

4. The highest tuber yield goal was 4000~4500kg/mu at 4% of the probability.
The combination was density(x,) inter-row distance(x,)=70cm, N fertilizer(x;)

=20kg/mu, P fertilizer(x,) = 15kg/mu and K fertilizer(x;) = 15kg/mu
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